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« M3i cau tra 15i ding duge cong 4 diém (Correct answer get 4 points).
« MG&i cAu tra 16i sai bi TRU 1 diém (Wrong answer minus 1 point).

 Khéng tra 16i duge 0 diém (No answer get 0 points).

Bd&i 1. Cho tam gidc ABC c6 AB < BC < CA, tia phan gidc ciia cac géc BAC, ABC va ACB cat nhau
tai I. Biét LAIB = 2°, Z/BIC = y°, LZAIC = 2° va x,v, z 1a ba s6 tut nhién lién tiép. Tinh ZBAC.
A triangle ABC has AB < BC < CA, the bisectors of the angles BAC, ABC and AC'B intersect at I.

Knowing ZAIB = x°, Z/BIC = y°, ZAIC = 2° and z, y, z are three consecutive natural numbers, calculate
/BAC.

B C

(A) 45°. B) 58°. (C) 60°. (D) 62°. E) 90°.
B&i 2. Cho tam gidc ABC ¢6 dd dai ba canh AB = 4, BC = 6, AC = 5 va mdt diém P bat ki. Hoéi
PA+2PB + 3PC c6 thé dat gia tri nhé nhat 1a bao nhiéu?
A triangle ABC' has three sides AB = 4, BC = 6, AC' =5 and any point P. What is the minimum value
of PA+2PB + 3PC?

(A) 14, (B) 15. (©)17. (D) 19. (B 20.

Bdi 3. Cho tam gidc ABC (nhu hinh v&) ¢6 hai duong cao AH va BK. Biét BC = 10 cm, AH = 16,8 cm
va BK = 8 cm. Tinh AB (don vi cm).

A triangle ABC' (as shown in the figure) has two altitudes AH and BK. Knowing that BC' = 10 em, AH =
16.8 em and BK =8 ¢m, calculate AB (in ¢cm).

(A)17. 18. B 21.
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Bdi 4. Hai xe A, B xuat phét ciing ltc ttt TP.HCM di Viing Tau va nghf mot 1lan & tram dimg chan céch
TP.HCM 1a 50 km. Thdi gian di ctia hai xe A va B lan lugt 1a 3 gio va 3 gio 20 phit (khong tinh thoi
gian nghi). Biét khi xe A nghi  tram diing chan dugc 8 phit thi xe B ciing dén tram. Tinh do dai quang
duong (don vi km) tit TP.HCM dén Viing Tau.

Two vehicles A and B depart from Ho Chi Minh City to Vung Tau at the same time and take a rest at a
stopover, which is 50 km from Ho Chi Minh City. The travel time of two cars A and B is 3 hours and 3
hours 20 minutes, respectively (excluding break time). Knowing that when vehicle A rested at the stopover
for 8 minutes, car B also arrived at the stopover, calculate the distance (in km ) from Ho Chi Minh City

to Vung Tau.
(A) 120. B) 125. (C) 135. (D) 130. (E) 100.

Bai 5. Goi A 1a tap hop céc sb nguyén t6 nhoé hon 10 . Héi c6 bao nhiéu tam gidc can c6 dod dai 3 canh
thudc A?

Call a set of prime numbers less than 10 as A. How many isosceles triangles can be formed with all sides
have lengths that are elements of set A?

(A) 10. B)11. (©)12. (D) 13. E 14.

PHAN DIEN DAP s

o« MBbi cau tra 16i ding dudce cong 6 diem (Correct answer get 4 points).

« M&i cau tra 15i sai hodc khong tra 15i duge 0 diém ( Wrong answer or no answer get 0 point).

Bdi 6. Hiéu c6 7 cay but, 8 cay thudc va 9 quyén tdp. Anh Ay géi thanh 12 phan qua, mdi phan qua gom
2 mén khéac loai. Hoi ¢6 bao nhiéu phan qua 1a bt va thude?

Hieu has 7 pens, 8 rulers and 9 notebooks. He wrapped them into 12 gifts, each gift includes 2 different
kinds. How many gifts are there include a pen and a ruler?

Bdi 7. Cho tam gidc ABC déu cé dién tich 1a 100 cm?. Trén doan BC lay diém I sao cho IC = 4IB. Pudng
thang qua I va vuong goc véi AB cit AC tai F. Tinh dién tich tam gidc AIF (don vi cm? ).

An equilateral triangle ABC' has area 100 ecm?. On the segment BC, take a point I such that IC = 41 B.
Draw a line through I and perpendicular to AB intersects AC at F. Calculate the area of the triangle AIF

(in cm?).
Bdi 8. Cho z,v, z 1a cdc s6 nguyén thoa:

2020z — 2019y 2019z — 2021z 2021y — 2020z
2021 a 2020 a 2019

Gié tri nguyén duong nhé nhat cé thé ciia y 1a bao nhiéu?
Let x,y, z be integers satisfying:

2020z — 2019y 2019z — 2021z 2021y — 20202
2021 - 2020 N 2019

What is the possible smallest positive integer value of y?
Bai 9. Héi trong nam 2020 c¢6 bao nhiéu thang cé ding 4 ngay thtt Bay? Biét ngay 01/01/2020 1a thit Tu.
In 2020, how many months are there with exactly 4 Saturdays? Knowing January 01, 2020 is Wednesday.

Bdi 10. Cho hinh chit nhat ABCD c6 duge chia thanh hai hinh chit nhat duge danh dau (1) va (2) nhu
hinh vé. Biét rang:

Trang 3
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« Chu vi hinh (2) bang 2 lan chu vi hinh (1).
« Dién tich hinh (2) bang 4 lan dién tich hinh (1).

Tinh AD (don vi cm) khi AB = 10 cm.
Let a rectangle ABC'D be divided into two rectangles marked (1) and (2) as shown. Knowing that:

o The perimeter of figure (2) is 2 times that of figure (1).
o The area offigure (2) is 4 times that of figure (1).

Calculate AD (in ¢cm) when AB = 10 cm.

A 10 cm B
(1) (2)
D C
DAP AN
1. C | 2. C | 3. A | 4. B | 5. D
6. 0003 | [7. 0162 | [8. 2020 | [9. 008 | [10. 0004

Trang 4
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